PrfE B A%
PRz AT
BTk

EIAYE Y oXcalke

20238 Ty VBIEI v AKX TILAKRKED

Fal

T/ B AAAR =Y #EEAET = AHEEE 7 e v 7
T /T EARRR— Y RS T = A S

2023F5H13H (1) 9:00~17:00
EEEST LA ANETF =2 a—k4F WAD ATE)
AFDOTEY — 7T 2R AITV, PAZ 2T » 240REE F—F A h~,

TAL2HUEL 3 « A7 b—F A FEITWVET,
TRY—2 65 —LER (5—5TEATL—2 « J—T7 KR FT—)
T®Y — 7 OIAMIE, BB, EEEERRS X OGS —ARIZK D,

N7 B

3 Affh—FT A b FEI -7 LFL,
AREZOGAEEFEEETN (BEE & FA) TIHOET,

WET = Ahie T 520-2332 A REFUNT/MER 1 4 9 [LAEIRS

A—/ L arh (ZA7-V2(F 17271 @ nifty.com

O h—F AR 1Y~y F (6—6TEATL—2 « ) —T KA F—)

N =R 1 2 3 4 | B AR | IEAZ
1| FJREA - e OZHED) 6—4 | 6—3 2-0 1
2 | whEE - i ER (CRBR) 4—6 5—6 | 0-2 [921 3
3 | AR E - P EE (E) 3—6 2—6 | 0-2 |5/17 4
4 | EANAT - mARRE (o) 65(4|6—2 2-0 2
NENIXESE 7Y — L RIZE D, 1« 2MLIRETTPEATL—T8, 7—1)
B7nmov7 5 6 7 8 BERR | 482 | AT
5 | EAEIEE - KRR DA (KBR) 6—4 | 5—6 1-1 3
6 | & FA-LnoTE @E) 4—6 1—6 | 0-2 4
7| IEERL - (SRR (SuE) 6—5 2—6 | 1-1 2
8 | BIREES - MR LD 6—1 | 6—2 2-0 1
(2 « 3NLITEBExikhE 5L)
Co7uavz 9 10 11 12 B | 5% | BN
9 | EiEt - BB (L) 6—1 | 6—0 2-0 1
10 | BusipEmE - A4 3 (KRB 1—6 1—6 | 0-2 4
11 | /s K - /= O#D) 0—6 6—5 | 1-1 2
12 | Al - HER (E) 6—1 | 5—6 1-1 3
(2 « 3NZLITEE G R)
D7uav” 13 14 15 16 WEE | 1555 | BAT
13 | AR - JIIARJEE (KIR) 2—6 | 6—5 1-1 | 819 | 4
14 | A=E#E - FilsE (E) 6—2 5—6 | 1-1 [11/19 | 1
15 | A9EA - MEAYE O 5—6 6—4 | 1-1 |1121 | 2
16 | #HA)IIRS - e EE A (KIR) 6—5 | 4—6 1-1 | 1021 3
(EAL XIS — LRI X D)
E7oav’ 17 18 19 20 PR | 155 | IEAT
17 | BB - M OLEr) 6—0 | 6—4 2-0 1
18 | A¥ps - B ¥ (KIR) 0—6 0—6 | 0-2 (012 4
19 | F E&ET - TAHE () 4—6 4—6 | 0-2 |80 3
20 | BRI - FoE Pk GRUER) 6—0 | 6—4 2-0 2
(EAIXESG Y — 2 RIZE D, 1« 2(LIERTTPEA T L —2 8, 7—5)




2023 Ty ViBIEI v I AETILVARESD

ok

B« 202 h—F A | 3+ 4N h—F Ak

(A1) F3F - hs OXH)  —— (A3) HiH - #iH CRB) ———
(C2) /it /Nt CrUp) 3 ? (C4) B - £ CRBR) 2 g
@2)@%°ﬁﬁ@ﬁm:}; i m4)5%°ﬁEUWﬂ:}z- i
(B2) Mk« fhls (L) —— 6 i (B4) & - ip@EH) — 2 6
(D1) 48 - Fri(E) —— 3 6 (D3) ) - B (Kk) —— 6 1
(C1) #H - BIL(ULHE) — 6 -; (C3) Ak - ¥ () 6 2
(A2) &A - @mAUEHE) —— 3 (A4) fAA - 1% (HE) —— 5
(E 1) J5E6 - hif] | L) 6 : (E 3) H b - 7 (i) 6(5)6
(D2) = - [if] 1 GLH) :}; 7 i (D4)HM§JH$CKW>:};_3 T
@1)%%~%m@ﬁm-———6u) ms)%%°ﬁﬁﬁw@————6

hndy - fifg (T i)

B - BT () — wo

o
i
i
Rl

W & R
e
FESE

=R - A St GrLsh)
5T « ] 55 B CrUT)
I HEEL - fh B ALs (SefE)



